STUDENT A A

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.

The base of the first container connects vertices A, B, C, and D as listed:
A(-7, 3) B(-3, 0) . C@.8 | DEL 1)

1: What shape is the farmer constructing as the base of this container? Use as specific a
name as possible for the quadrilateral. Prove mathematically that this name is appropnate
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STUDENT A

2: The second container has a base that connects vertices E, F, G, and H, such that
quadrilateral EFGH is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, ~2) Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of square units in the surface area is equal to the number of cubic units in the

volume. Find the height of the container. \f\ - Vi g 0 L\J
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STUDENT B B

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate

system to build the containers.
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The base of the first container connects vertices A, B, C, and D as listed:
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1; What shape is the farmer constructing as the base of this container? Use as specific a
name as possible for the quadrilateral. Prove mathematically that this name is appropriate.
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STUDENT B

2: The second container has a base that connects vertices E, F, G, and H, such thgt N
quadrilateral EFGH is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of square units in the surface area is equal to the number of cubic units in the
volume. Find the height of the container.
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STUDENT C C

A farmer is adding two enciosed containers to collect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.
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What—shapeisihé far er constructin ase of this contalner'? Use as speclflc a

name as possible for the quadrilateral. Prove mathematically that this name is Q‘%nmpnate
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STUDENT C

2: The second container has a base that connects vertices E, F, G, and H, such that
quadrilateral EFGH is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of square units in the surface area is equal to the number of cubic units in the

volume. Find the height of the container.
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STUDENT D

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make sure the
containers are placed at precise locations beside two barns, he uses a coordinate system to build the
- containers.

The base of the first container connects vertices A, B, C, and D as listed:

A{-7,3) B{-3,0) C(3, 8) D(-.l, 11)

o

1: What shape is the farmer constructing as the base of this container? Use as shetiﬁc a name as
possible for the quadrilateral. Prove mathematically that this name is appropriate.
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2: The second container has a base that connects vertices E, F, G, and H, such that quadrilateral EFGH
is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2} and vertex F has coordinates
11, -2). Give all possible coordinates for points G and H. ol S
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3: The first container {with base ABCD) is an enclosed prism that has a special quality: the number of
square units in the surface area is equal to the number of cubic units in the volume. Find the height
of the container.

20w+ 2hwr 3Rl = Lok
100 + 10 + 20h = D0k

[OO + 30 =S50k

o = 20K

h= 5 wik<



jsl47365
Text Box
STUDENT D


STUDENT E |E

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make

sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.

The base of the first container connects vertices A, B, C, and D as listed:

A(-7, 3) B(-3, 0) C(3, 8) D(-1, 11)
1: What shape is the farmer constructing as the base of this container? Use as specific a

name as possible for the quadrilateral. Prove mathematically that this name is appropriate.
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STUDENT E

2: The second container has a base that connects vertices E, F, G, and H, such that
quadrilateral EFGH is similar to quadrilaterai ABCD. Vertex & has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the

number of square units in the surface area is equal to the number of cubic units in the
volume. Find the height of the container.
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STUDENT F F

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.

The base of the first container connects vertices A, B, C, and D as listed:
A(-7, 3) B(-3, 0) C€@,8 - D1, 1)

1: What shape is the farmer constructing as the base of this container? Use as specific a
name as possible for the quadrilateral. Prove mathematically that this name is appropriate.
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STUDENT F

2: The second container has a base that connects vertices E, F, G, and H, such that
quadrilateral EFGH is similar to quadritateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of square units in the surface area is equal to the number of cubic units in the
volume. Find the height of the container.
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STUDENT G

A farmer is adding two enclosed containers to collect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.
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The base of the first container connects vertices A, B, C,and D és :IliStg'd:. 3
A(-7, 3) B(-3, 0) T c3,8) D(-1, 11y

1: What shape is the farmer cmstrucfing as the base of this container?' Use as s_pe__cific:'a
name as possible for the quadrilateral. Prove mathematically that this name is appropriate.
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STUDENT G

2: The second container has a base that connects vertices E, F, G, and H, such that
quadrilateral EFGH is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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3: The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of sguare units in the surface area is equal to the number of cubic units in the
volume. Find the height of the container.
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|STUDENT H H

A farmer is adding two enclosed containers to coflect rainwater on his farm. In order to make
sure the containers are placed at precise locations beside two barns, he uses a coordinate
system to build the containers.

+ The base of the first container connecﬁts \fertices A, B, C, and D as listed:
A(-7, 3) B(-3, 0) C(3.8 | D(1,11)

1: What shape is the farmer constructihg as the base of this container? Use as specific a
name as possible for the quadrilateral. Prove mathematically that this name is appropriate.
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STUDENT H

2: The second container has a base that connects vertices E, F, G, and H, such that

quadrilateral EFGH is similar to quadrilateral ABCD. Vertex E has coordinates (5, -2) and
vertex F has coordinates (11, -2). Give all possible coordinates for points G and H.
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The first container (with base ABCD) is an enclosed prism that has a special quality: the
number of square units in the surface area is equal to the number of cubic units in the
volume. Find the height of the container.
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